20201010101

B RERR MRS - TRAR/ERBERB 2R M EEMIEENL BEREHRE > BEIHRR
BEEZS - IR AR EIER S

bﬁi‘

a. BUF & C R - & rea® s R ERRERLRT  SEUE £1

- _ WRE -
RS Bl A e s e 0 HERE KR
TR ¢ (6 5 SRR R

NEZ 5% K1~4HEF  BRFENRE 2K Eiﬁu;ﬁ‘ﬂﬁiﬂgﬁﬁﬁﬁﬁﬁmﬁﬁ 5
ey - -

19 fHE RMBRMELIER - RMEDE (R—)
BEZBNE - K1~-4NIBE - AEDRFHIRMH
R -




% — BRIl

R+ INEBERST | R 8.8 R4 SHEH T |5 10.9 WRER 7 SHEH R 12.9 BRaR > SHEHT
[mm] [Nm] [In-lbs] [Nm] [In-lbs] [Nm] [In-lbs]

M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19

M4 x 0.7P 3 3 27 4,1 37 4.9 44

M5 x 0.8P 4 6.1 55 8.2 73 9.8 87

M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038

|+ — CETRR Tyt

= R 154 1 - \ SER
e FE i AR KT 7NAEE R T FEEHR T
[mm] [mm] [mm] [Nm] [In-1bs]
AB042 AF042 REERE ] =11 M3 x 0.5P x 8L 2.5 2.1 19
AEOS0 AFX042 E <11 M3 x 0.5P x 8L 2.5 2.1 19
ABO60 AF060 B <14 M4 x 0.7P x 12L 3 4.9 44
AEQ70 AFX060
AN023 AN023B EEED <11 M3 x 0.5P x 8L 2.5 2:1 19
ABO90 AF075 i <19 M5 x 0.8P x 14L 4 9.8 87
AE090 AFX075
ANO34 ANO34B ] =14 M4 x 0.7P x 12L 3 4.9 44
AB115 AF100 EERETH] =32 M6 x 1P x 16L 5 17 151
AE120 AFX100 | gy =19 M5 x 0.8P x 14L 4 9.8 87
AB142 AF140 FEER =38 M8 x 1.25P x 20L 6 41 364
AE155 AFX140 ) <32 M6 x 1P x 16L 5 17 151
AB180 AF180 REERETH] =48 M10 x 1.5P x 25L 8 80 709
AE205 AFX180 e <38 M8 x 1.25P x 20L 6 41 364
AB220 AF220 REERETS] =55 M12 x 1.75P x 30L 10 139 1232
AE235 8 =48 M10 x 1.5P x 25L 8 80 709
ABO60A AF060A
AFX060A T ~14 M4 x 0.7P x 12L 3 4.9 44
ANQ023A AN023C
ABO90A AFO75A
AFX075A R =19 M5 x 0.8P x 14L 4 9.8 87
ANO34A ANO34C
AB115A AF100A . =
AB142A AF140A | oo B
HEE - IREREHTR D vER BIE - EE WS ST S F e E s 20% 0 LUB T -
& - HIE: 0571-86622450 5B 0571-86625450
*e ok 84S : info@hzmosen.com RIHE: www.apexms.cn

sl APEX DYNAMICS, INC.

U I X R s 8 5 A R iD 503 2

APEX-2018-11-2C



	精銳-AB-中文-01
	精銳-AB-中文-02

